

Name: Keme bigha Favour

Dept: Great/Elect

Course: Mathematics GNG 381

Mat No: 17/GNG04/085

1) If $y = e^{x^2+x}$

show that

$$y'' = y'(2x+1) + 2y$$

and hence prove that; $y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$

Answer

$$y = e^{x^2+x} \quad \text{--- (1)}$$

using chain rule $-\frac{\partial y}{\partial x} = \frac{\partial y}{\partial u} \times \frac{\partial u}{\partial x}$

$$u = x^2+x$$

$$y = e^u$$

$$\frac{\partial y}{\partial u} = e^u \quad \frac{\partial u}{\partial x} = 2x+1$$

$$\frac{\partial y}{\partial x} = e^u(2x+1) = e^{x^2+x}(2x+1) \quad \text{--- (2)}$$

~~$\frac{\partial^2 y}{\partial x^2} = \frac{\partial y}{\partial x} \times \frac{\partial y}{\partial x} + u \frac{\partial y}{\partial x}$ (from product rule)~~

Let $u = e^{x^2+x} \quad y = e^y$

and $y = x^2+x$

$$\frac{\partial y}{\partial x} = e^y \quad \frac{\partial y}{\partial x} = 2x+1 \quad \frac{\partial y}{\partial x} = e^y(2x+1)$$

$$\frac{\Delta y}{\Delta x} = (2x+1)e^{x^2+x}$$

let $v = 2x+1$

$$\frac{\Delta v}{\Delta x} = 2$$

$$\begin{aligned} \frac{\partial^2 y}{\partial x^2} &= (e^{x^2+x}) \cdot 2 + (2x+1)(2x+1)e^{x^2+x} \\ &= 2(e^{x^2+x}) + (2x+1)(2x+1)e^{x^2+x} \end{aligned}$$

but recall that

$$y = e^{x^2+x} \quad \text{from equation 1}$$

and $y' = (2x+1)e^{x^2+x}$

$$y'' = 2y + (2x+1)y'$$

$$y'' = y'(2x+1) + 2y \quad \text{--- (3)}$$

↖ shown

from --- (3) $y'' = y'(2x+1) + 2y$

let $w_1 = y^{(1)}$ $y'' = y^{(1)}(2x+1) + 2y$

$$w_2 = y^{(1)}(2x+1)$$

$$w_3 = 2y$$

$$a) w_1 = y^{(2)}$$

$$u = y^{(2)}, \quad v = 1$$

$$u^n = y^{n+2}, \quad v' = 0$$

$$\text{Hence; } w_1^n = v^n v^0 + {}^n C_1 u^{n-1} v^1 + {}^n C_2 u^{n-2} v^2 + \dots$$

$$w_1^n = u^n v^0 + n u^{n-1} v^1 + \frac{n(n-1)}{2} u^{n-2} v^2$$

$$w_1^n = y^{n+2} \cdot 1 + n y^{n-1+2} \cdot 0$$

$$w_1^n = y^{n+2}$$

$$b) w_2 = y^{(1)} (2x+1)$$

$$u = y' \quad v = 2x+1$$

$$u' = y'' \quad v' = 2$$

$$v'' = 0$$

$$u^n = y^{n+1}$$

$$w_2^n = u^n v^n + n u^{n-1} v^1 + \frac{n(n-1)}{2} u^{n-2} v^2$$

$$w_2^n = y^{n+1} (2x+1) + n (y^{n+1-1}) 2 + \frac{n(n-1)}{2} y^{n-2+1} \cdot 0$$

$$= (2x+1) y^{n+1} + 2n y^n$$

$$c) w_3 = 2y$$

$$u = y, \quad v = 2$$

$$u' = y', \quad v' = 0$$

$$u^n = y^n$$

$$w_3^n = u^n v^3 + n u^{n-1} v' + \frac{n(n-1)}{2} u^{n-2} v^2$$

$$w_3^n = y^n \cdot 2 + n y^{n-1} \cdot 0$$

$$w_3^n = 2y^n$$

$$w_1^n = w_2^n + w_3^n$$

$$y^{(n+2)} = (2x+1)y^{n+1} + 2(n+1)y^n$$

proven

Question 2

$$y = x^3 e^{4x}$$

$$v = x^3, \quad u = e^{4x}$$

$$v' = 3x^2, \quad u' = 4e^{4x}$$

$$v'' = 6x, \quad u'' = 16e^{4x} \quad \therefore u^n = 4^n e^{4x}$$

$$v''' = 6, \quad u''' = 64e^{4x}$$

$$y^n = {}^n C_0 u^n v^0 + {}^n C_1 u^{n-1} v' + {}^n C_2 u^{n-2} v^2 + {}^n C_3 u^{n-3} v^3$$

$$y^n = u^n v^0 + n u^{n-1} v'$$

$$y^n = u^n v^0 + n u^{n-1} v' + \frac{n(n-1)}{2!} u^{n-2} v^2 + \frac{n(n-1)(n-2)}{3!} u^{n-3} v^3$$

~~$$y^n = u^n v^0 + n u^{n-1} v'$$~~

where $n=5$

$$y^{(5)} = (4^5 e^{4x} \cdot x^3) \cdot (5 \cdot 4^{5-1} e^{4x} \cdot 3x^2) + \frac{5(5-1)4^{5-2} e^{4x} \cdot 6x}{2 \times 1}$$

$$+ \frac{5(5-1)(5-2)4^{5-3} e^{4x} \cdot 6}{3 \times 2 \times 1}$$

$$y^{(5)} = 1024 e^{4x} x^3 + 3840 e^{4x} x^2 + 3840 e^{4x} x + 960 e^{4x}$$

$$y^{(5)} = 64 e^{4x} (16x^3 + 60x^2 + 15)$$

ii) $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$

show that $x^2 y^{(n+2)} + (2n+1)x y^{(n+1)} + (n^2+1)y^{(n)} = 0$

$$x^2 y'' + x y' + y = 0$$

a) let $w_1 = x^2 y''$ so that $w_1^n + w_2^n + w_3^n = 0$

$$v = x^2 \quad u = y''$$

$$v' = 2x \quad u' = y'''$$

$$v'' = 2 \quad u'' = y^{(4)}$$

$$u^n = y^{n+2}$$

$$w_1^n = u^n v^n + n u^{n-1} v' + \frac{n(n-1)}{2} u^{n-2} v''$$

$$w_1^n = y^{n+2} x^2 + n(y^{n+2-1}) \cdot 2x + \frac{n(n-1)}{2} y^{(n+2-2)} \cdot 2$$

$$+ [y^{n+1} \cdot 2x + n y^{(n)} \cdot 2 + 0] - y^n = 0$$

$$w_1^n = \cancel{x^2 (y^{n+2})} + \cancel{n(y^{n+2-1}) 2x} + \cancel{n(n-1)y^n}$$

$$\cancel{= x^2 y^n}$$

$$= x^2 y^{(n+2)} + 2xny^{(n+1)} + n(n-1)y^n + 2xy^{(n+1)} + 2ny^{(n)} + y^{(n)}$$

$$= x^2 y^{(n+2)} + 2(n+1)xy^{(n+1)} + (n^2 - n + 2n + 1)y^{(n)} = 0$$

$$= x^2 y^{(n+2)} + 2(n+1)xy^{(n+1)} + (n^2 + 1)y^{(n)} = 0$$